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1. 

Here, the answer is C. 


The passage concludes by saying that ultimately ‘students from poorer families are 
more likely to be deterred from going to university by the prospect of debt.’ Therefore it 
can be inferred that students from richer families are less likely to be deterred from 
going to university compared to students from poorer families. This is summarised in 
statement C. 

Statement A is incorrect because there is no mention of how poorer families would be 
‘less interested’ in going to university based on the increase in debt that would have to 
be repaid. 

Statement B is incorrect because there is no mention of how universities are less willing 
to help meet government targets. 

Statement D is incorrect as the final sentence implies that students from poorer families 
are more likely to be affected rather than all students being deterred equally. 

Statement E  is also incorrect because there is no mention of maintenance grants 
specifically, just simply grants in general.
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2. 

Here, the answer is C. 


Statement C is correct here because the first sentence starts by challenging that how 
previously when something could not be explained it therefore needed to be truly 
paranormal. It then goes on to provide evidence that explanations would make people 
realise that such feats are not necessarily paranormal.

Statement A & B are too bold to be correct here and are therefore incorrect. 

Statement D is incorrect because there is no mention how the feats mentioned are true 
or not but merely mentioned as examples of things that are thought to be paranormal. 
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3. 

Here, the answer is E. 


No statements here are correct. 

Statement 1 is incorrect because there is no mention of underage drinkers who are not 
sexually activity. It cannot be assumed that because girls that engage in underage 
drinking that they are necessarily sexually active too. 

Statement 2 is incorrect because it cannot be assumed that if stricter controls were 
imposed upon younger people that this would reduce the number of pregnancies. It is 
therefore assuming that underage drinking is more likely to lead to underage underage 
pregnancies, which is incorrect. 

Statement 3 is incorrect to say because there the paragraph only mentions how 40% of 
16 year old pregnant females were found to be under the influence of alcohol and not 
that the total 16 year old female population is therefore consuming alcohol. 
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